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Attempt any four questions. 

Question Number (1) is compulsory  

     1) Choose the correct option from the following. (Only one option is correct) 

(i) Poisson ratio of steel in elastic range 

(a) 0.25       ( b)   0.3      (c)    0.4         (d)     0.5 

Ans-b 

(ii)  Load on which connection is not eccentric 

(a) Lap joint    ( b)  single cover butt joint   (c)   double cover butt joint (d)  any of 

the above. 

Ans-c 

       (iii) For fillet weld subjected to a combination of  normal and shear stresses, the equivalent  

       stress fe should satisfy          
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                  Ans-b 

 (iv) The minimum pitch of the bolt 

(a) 2.5 times diameter of the bolt ( b)     2.5 times diameter of the hole (c)     12t or 200 

mm whichever is less (d)     )     16t or 200 mm whichever is less 

Ans-a 
 

(v) A steel plate is 25cm wide and 12cm thick. If the diameter  of the bolt hole is 20mm, 

the net section area of  the plate is 

(a) 27 cm2                            ( b)     27.6 cm2                     (c) 276 cm2       (d) 25cm2 

      Ans-b 

 2) Two plates 180×10 mm each are connected by double cover butt joint with 16mm bolts as 

shown in figure. The covers are 6 mm thick . Determine the strength of the plate. 



 



 

 

 

 

 

 





 

 
 

3) Find the force carried by the  bolt 1,3,4,6, as shown in figure, If P=100KN. 

 

 







 

 



4) The tie member of a truss made of  ISA 75×75×6 mm and is subjected to factor 

tensile  force of 100KN. Design a welded joint. 

 





 



 

5) Determine the net rupture and block shear strength of  the tension member shown in 

figure.. The yield and ultimate tensile strength of the section is 250 and 410 respectively. 

 



 





 



 



  

6) A single unequal angle 100×75×6 mm is connected to a 8mm thick gusset plate at the 

ends with 4mm welds as shown in figure . Average length of weld is 225mm. Determine 

the tensile strength of the angle if the gusset is connected to the 100mm leg. The yield 

and ultimate tensile strength of the section is 250 and 410 respectively.  
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